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(. B=2) Arab Republic of Egypt JO/Eef (R1y)
Ministry of Education
General Secondary Education Certificate Examination — First Session 2022
[Third Year Secondary]

Algebra and solid geometry Time: 2 Bours
(i) Al S i A AV ) YorY S el (Al ) A1 AN duaighs
(Clada jio b aliugl)

Calculator is allowed

Choose the correct answer from those given

(1) Number of ways to form a three different digit number from the set of digits

{2,3,4,5} equals ......... way

...................................................................................................................................

equals ............
T —Tr T
@ - ® T © I @ =

...................................................................................................................................
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(b, ) Yo JOJE/e vyl

0 0 3
(3) Ifthe value of the determinant |0 &k 2|equals 12 ,then: k =...........
4 5 3

(4) Ifthe point A (3+m,1—2m,4m) is at a distance 4 positive units from

the plane xy ,thenm=.......

@ 4 ® 3 © 2 @ 1

(ALY dadual) A ALl Ay )y
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(. ) - Jst/E/e /(N

-3 +2 +1 —_—
(5) If the two straight lines lexa =2 : =Z9 and L,: 7 =(3,—1 ,2)+k(1,2,3)

...................................................................................................................................

o Anal_ll Andeall | A ALiatt ddy ))®
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(7) If z, , z, are two complex conjugate numbers , then z; X z, could be equals

...................................................................................................................................
...................................................................................................................................
...................................................................................................................................

...................................................................................................................................

s al) Lndall B AL 484 )%




{Ua, =) - dj/g/a/("twe)@iﬁ
(9) Ifthe point A(3, 2,1) and the point B(5, 2,3), then the coordinates of

the mid-point of AB is ...........
@ (—4,~-2,-2) (b (—4,0,-1)
© (4,0,1) @ (4,2,2)
(10)If ™1, =720, then 21N = ...

...................................................................................................................................
...................................................................................................................................
...................................................................................................................................

...................................................................................................................................
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(AL o) -1 JS/E/e [N )El

1 2 3 2 4 6
(IDIM=(-2 5 4|andK=|-4 10 8|,thenK =........
4 -3 -1 12 -9 =3

(12) If equation of a sphere in the space is: (x — 1)+ (y—-3)2+(z+2)>=9

, then the coordinates of its center are ................ and

the length of its radius =................... unit of length
@ (_1, ___.3’2) ’ 3 - @ (1J 3; _2)1 3
© (_11 _3;2)19 @ (1, 3, _2),81

...................................................................................................................................
...................................................................................................................................
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(13)If "C, : "C; =1:2, thenn = ...

@ 4 ® 5 © -4 @ -5

...................................................................................................................................
...................................................................................................................................
...................................................................................................................................

...................................................................................................................................
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(15) If 4 ,B  are two vectors such that: Ez(—l,—k 2)and B = (1,3,6), where

ke€Z"and ”5” = 6, then the value of k =

@ 1 ® 2 @©

...............

*_ Y,z _ X y z
@ 3 5+2_1 @ r‘5'+§+§—_-1
© X,y z_ @ ry,z_,

3+2 5 1 2 5 3

...................................................................................................................................
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(5. ) _4. O /B /e /(v ) s

(17) If the coefficients of the fourth and twelfth terms in the expansion (x + y)™

.........

@ 13 14 © 15 @ 6

are equal, then the value of m equals

.........

@ zero  (b) 1 © 2 @ 3

...................................................................................................................................
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(19) Equation of the plane which is parallel to the plane xz and passes through the
point (1,-3,2) 1S ..........eee..

(20) Sum of the intercepted parts from the coordinate axes x, y and z by the
plane: 12x + 16y + 24z = 48 equals .........

@ 10 ©® 11 © 12 @ 9

...................................................................................................................................

...................................................................................................................................
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